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A4 506 249 257 506 243 263
18294 68 35 33 101 52 49
30394 52 28 24 73 37 36
Al 4049A 72 35 37 90 42 48
50~59A 132 62 70 106 51 55
60~69A 107 49 58 77 36 41
70AM| Of & 75 40 35 59 25 34
Y| 224 119 105 288 140 148
18294 30 18 12 65 33 32
30394 30 14 16 46 23 23
189 40-49A 33 19 14 58 27 31
50~59A 67 33 34 61 30 31
60~69A 40 19 21 35 17 18
70N Of &t 24 16 8 23 10 13
2 282 130 152 218 103 115
1829A 38 17 21 36 19 17
30394 22 14 8 27 14 13
2HGS 40-49A| 39 16 23 32 15 17
50~59A 65 29 36 45 21 24
60—~69A 67 30 37 42 19 23
70X Of &t 51 24 27 36 15 21
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m MA m (506) (506) 5 10 10 76 100
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=R (249) (243) 4 11 7 77 100
Of X} (257) (263) 5 10 12 74 100
A
18-29A| (68) (101) 14 29 18 39 100
30-39A (52) (73) 3 14 17 67 100
40-49KM| (72) (90) 4 3 8 85 100
50-59A (132) (106) 2 6 5 87 100
60-69A (107) 77) 2 3 4 92 100
70N O] ] (75) (59) 1 1 5 93 100
Xy
HEAZ 189 (224) (288) 4 13 9 74 100
TFAE 23 Y (282) (218) 5 7 10 78 100
=
=/9/0 Y (14) (13) 0 0 18 82 100
A (84) (75) 2 4 6 88 100
THoH/ /M E| A E] (46) (48) 4 21 23 53 100
WA 5/ 2 A (25) (26) 3 16 6 75 100
AR /e /M 22 (143) (156) 3 7 9 81 100
FH (89) (79) 3 6 5 86 100
i (35) (53) 16 31 9 44 100
SA/E| R /7| Ef (70) (55) 8 4 12 76 100
o|'d g%
Al k| (231 (217) 2 6 7 84 100
s (187) (206) 8 14 12 67 100
H (62) (57) 3 8 4 85 100
DE/2SH (26) (25) 3 23 27 47 100
X x’8e
E o el B (329) (315) 4 6 8 83 100
= 0lo|5| (33) (29) 6 12 2 80 100
ol (10) (12) 0 7 19 74 100
L= (29) (26) 3 7 10 80 100
O|FA &ol HE (17) (19) 15 9 4 72 100
Ol ol/RI=EEto| ] &of HE (25) (26) 4 6 7 84 100
a2 EIo[Lt ThA| 9) 9 11 0 7 82 100
=/EE/F8H (54) (70) 6 37 21 35 100
3 3829 7t
24 (52) (51) 1 24 11 64 100
23 (441) (443) 5 9 10 77 100
DE/2SH (13) (12) 16 9 0 75 100
EXA EFHR2FE "It
=4 (300) (291) 4 7 10 80 100
23 (164) (168) 6 10 11 73 100
DE/2SH (42) (47) 6 35 4 56 100
22t EM EEOIE
M3 EEF (406) (382) 0 0 0 100 100
A3 ERs 41) (48) 0 0 100 0 100
EH Z¥ /e (40) (52) 0 100 0 0 100
8 oF g8 (19) (23) 100 0 0 0 100
x RE/FS8E SEHU U3
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m HA m (506) | (506) | 22 4 4 3 8 2 1 1 14 18 1 6 6 100
;gu:l
SXH (249) | (243) | 21 3 4 3 6 3 2 10 16 19 i1 7 5 1100
o XH (257) | (263) | 22 6 5 3 9 1 0 12 12 18 0 6 6 100
il ]
18-29M|| (68) | (101) | 11 3 5 3 6 6 3 8 20 15 0 ¢ 10 | 12 100
30-39Ml| (52) | (73) | 33 7 5 4 6 2 0 4 9 13 0 10 | 7 100
40-49M|| (72) | (90) | 27 3 3 5 3 0 0 10 18 1 0 2 3 1100
50-59A|| (132) | (106) | 25 5 4 4 12 1 0 11 8 18 1 8 4 1100
60-69Ml| (107) | (77) | 18 6 8 1 9 1 2 14 25 2 3 5 1100
70AM| O|AH (75) | (59) | 15 4 2 1 12 1 0 8 25 23 1 4 3 1100
Xy
HMEAS 1Y 224) | (288) | 22 3 4 3 7 2 13 16 18 0 5 6 100
HFEAIS 239 282) | (218) | 21 6 5 4 9 2 9 11 19 1 7 6 100
=
S/ 14) | (13) | 13 13 26 0 7 5 0 18 0 10 0 9 0 1100
AHAH| 84) | (75) 20 5 8 3 3 0 1 15 1 25 0 8 1 1100
o/ E A/ ME|A X (46) | (48) | 33 10 5 2 7 6 0 13 5 0 0 0 9 100
MA7| S/ 22 (25) | (26) 34 4 0 4 13 0 0 5 2 25 3 3 7 100
AFR /22| /M2 E] (143) | (156) | 23 4 3 3 6 2 0 13 15 16 1 8 7 1100
Z=2 89 | (79 | 19 5 3 1 12 0 1 8 22 20 1 5 6 100
ShAMl (35) | (53) 9 0 7 7 8 5 6 10 13 17 0 10 9 100
BRI/E|Zl/7|EH (70) | (55) | 20 1 0 5 12 1 0 7 21 21 1 5 6 100
o|'d-dgt
RE 231) | @17) | 31 2 4 4 9 0 0 13 7 22 1 3 5 1100
=E=| (187) | (206) | 17 5 5 4 8 2 1 13 15 16 0 9 6 100
H2 62) | (57) 8 6 6 0 4 8 4 3 36 18 1 0 5 3 1100
DE/88EH (26) | (25) 13 17 7 0 6 0 0 3 8 11 0 14 21100
X x’8e
HE02IF2H 329) | 315) | 20 5 5 4 9 1 1 15 8 24 1 5 4 1100
200/l (33) | (29) 3 5 2 0 0 0 4 0 72 5 0 4 5 1100
HMolg (10) | (12) 62 0 0 0 0 0 0 0 12 19 0 7 0 100
FIHEH 29) | (26) | 72 0 4 0 13 0 0 0 5 6 0 0 0 100
o|l=M o ™Y (17) | (19 12 0 5 0 4 19 0 9 41 7 0 4 0 100
O|fCl/RISFEEo|Rl &of HY| (25) | (26) 17 16 3 0 6 0 0 4 23 14 2 15 . 0 100
O Q| ™dYo|Lt B (9) ) 41 0 0 0 17 0 7 16 0 8 0 11 0 100
e/RE/28E (54) | (70) 13 0 2 6 7 4 0 8 13 9 1 13 23 1100
fsd =8=2F 4ot
24| (52) | (51) 6 8 5 5 0 4 3 3 55 3 0 4 6 100
B (441) | 443) | 24 4 5 3 9 1 1 12 10 200 1 6 5 1100
DE/SSE (13) | 12 | 14 7 0 0 0 13 0 8 0 14 0 9 36100
EXA =-H2F "ot
24| (300) | 291) | 21 4 5 2 9 1 1 13 13 21 1 4 4 100
2 (164) | (168) | 24 4 3 6 5 1 0 9 15 15 00 11 + 7 100
RDE/SSE 42 | @n | 17 5 5 0 10 0 7 15 13 0 15 i 100
22t &M EEO|E
M= EHZ| (406) | 382) | 22 4 5 2 9 2 1 13 14 21 1 5 4 100
AT EEZE| 41) | 48) | 25 10 3 3 3 2 1 8 6 15 1 0 9 151100
=g 2™ SH| 40) | (52) | 18 0 4 10 4 6 4 3 19 10 0 13 10 100
EE o 98| (19 | 3) 14 3 4 4 1 0 0 12 20 10 0 12 12100
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(B 3] AFAIS 302 225 Aoz
[23-2&F3-1-2] O|H MFEAIZ I MH TEHE HEE|= CF AMEE & 57 QENHUFY MFAIZ I 2E2
It Metsicin st L F2 O|E2 R #22 S Ee|ELICta del:s HE0UFE MFAZ2 =30f ZEE
FOF =20|et: o XNosiCin MZstalL ity 22 0|52 29 =22 =&t
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A}_E:"_/'g_ A}'E:"—/': (] (] (] (] (] (] (] (o) (] (o) (]
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= M m (506) | (506) 6 6 6 14 3 15 28 2 13 8 100
Aghtl
=XH (249) | (243) 5 6 5 11 6 15 31 13 0 7 100
OofXH (257) | (263) 7 7 7 16 0 15 25 13 0 9 100
]
18-29M| (68) | (101) 2 6 12 7 9 11 22 4 16 13 1100
30-39AMl| (52) | (73) 11 6 2 10 4 9 33 0 14 13100
40-49M|| (72) | (90) 3 8 6 14 0 28 34 0 5 2 1100
50-59A|| (132) | (106) 8 6 4 18 2 16 24 2 15 4 100
60-69MI| (107) | (77) 7 7 4 17 2 12 27 313 9 100
70AM| O|AH (75) | (59) 5 6 8 18 1 10 29 2 12 10 100
g
HEAI2 1 Y| (224) | (288) 4 4 6 13 3 17 29 2 14 7 100
HTAlS 2H S| (282) | (218) 8 9 6 14 3 11 26 2 11 .9 100
R3PS
s/A/00| (14) | (13) 13 21 0 17 5 18 18 0 9 0 100
XE | (84) | (75) 6 11 4 13 1 17 29 113 © 4 1100
oo/ E QI /M H| A X (46) | (48) 6 10 9 12 6 25 11 6 13 1 i100
dib/7|5/= 25| (25) | (26) 8 0 4 16 0 15 40 0 14 5 :100
AFR/2E2 /M2 X (143) | (156) 5 5 6 11 3 15 30 2 14 9 1100
FE 89 | (79) 6 5 4 21 0 13 28 313 1 6 :100
SHM (35) | (53) 5 7 9 7 11 10 26 0 9 17 1100
2 XI/E|Zl/7|E}H (70) | (55) 5 3 10 17 1 7 32 2 11 121100
o3 g%
ZlE| (231) | 217) 4 5 5 20 1 16 33 1 9 7 1100
== (187) | (206) 7 7 7 10 4 17 25 4 13 8 100
22 (62) | (57) 11 11 4 4 10 6 22 0 25 6 i100
DE/SSE (26) | (25) 6 10 14 15 0 10 13 0 14 18 1100
XX
HE0{BIFEH (329) | (315) 7 8 5 16 2 18 32 1 8 5 1100
=019l (33) | (29) 15 2 0 0 4 8 17 3 41 11100
HolEH (10) | (12) 0 6 0 27 0 0 32 0 21 14100
EHEH (29) | (26) 0 3 12 22 2 6 22 2 28 0 2 1100
oM &o FY| (17) | (19) 4 14 8 7 24 9 7 13 15 . 0 {100
O|fol/nIssElzto|@l &of HEH (25) | (26) 15 3 12 6 0 13 25 6 9 11 100
2o FHolLt BAl|l 9 | (9 0 0 0 41 0 34 0 7 11 7 100
/B E/ESE] 54) | (70) 0 4 9 7 6 10 23 4 18 20 100
sd I829 "ot
23| (52) | (51) 11 6 5 0 5 10 21 5 .30 0 9 100
B (441) | 443) 5 7 6 16 3 16 28 2 011 7 100
B2E/28E| (13) | (12) 7 0 0 0 13 8 28 0 9 36 100
EXA EER2Y "ot
27| (300) | (291) 7 7 6 16 3 16 31 2 7 6 100
A (164) | (168) 6 5 7 10 3 14 22 321 8 100
DE/ESE (42) | (47) 2 5 0 11 4 13 28 0 17 21 :100
22 &M EEO|T
I EEZ| (406) | (382) 6 7 6 14 2 16 31 2 11 6 100
23 EBF| (41) | 48) 8 7 11 20 2 17 17 1 7 12 100
ER A™ 98| “0) | (52) 3 7 0 5 9 9 21 0 30 15 :100
FE S g3 (19) | (23) 3 0 18 11 12 12 14 4 18 8 100
AL IR S HIS
23| (106) | (109) 2 5 8 18 0 9 25 321 9 100
DS (24) | (22) 84 0 0 7 0 8 0 0 0 0 100
EHRIAH (23) | (22) 0 85 0 3 5 0 5 0 0 3 1100
MXIZ| (16) | (17) 0 0 51 0 0 0 44 0 6 0 100
A= (44) | (40) 0 0 7 83 0 3 4 0 4 0 100
of2EH (8 | (9 0 0 0 0 72 0 0 0 20 9 i100
eyl @ | @ 0 0 15 0 70 0 0 0 0 15 100
O|H=| (53) | (56) 0 1 1 1 0 96 0 0 0 0 {100
HH| (68) | (70) 4 5 9 7 5 7 25 7 22 9 100
ZExY| (98) | (93) 3 3 1 3 0 2 87 0 0 2 1100
CHE 5| @) | (3) 0 0 0 0 0 0 22 47 0 31 0 1100
gle/nE/8SE (58) | (61) 7 1 4 10 1 2 5 0 35 34100
I
HankooklResearch



[24] YEHHME T2 2E2E M

=TI
At () A&=ME Zya HEN EHY FAar Zok i mE/agE A
A ZASE [EU A8 .
AeE) | Mei@ | * * * ” % %
. = M m (506) (506) 14 23 25 37 1 100
o2
SHXH O (249) (243) 10 23 24 42 0 100
e Xl (257) (263) 17 23 26 33 1 100
[re)
18-29M| (68) (101) 9 28 23 40 0 100
30-39A (52) (73) 8 22 24 46 0 100
40-49KM (72) (90) 12 22 17 49 0 100
50-59M|| (132 (106) 17 23 29 31 0 100
60-69M  (107) 77 18 23 29 30 0 100
= 70M O] & (75) (59) 21 16 31 25 7 100
e
HFAIZ 138Y (224) (288) 16 27 20 38 1 100
— HFAIS 23S (282) (218) 12 18 32 37 1 100
e
S/L/ Y (14) (13) 0 19 30 51 0 100
INRER (84) (75) 13 13 29 46 0 100
ol /A H| A (46) (48) 8 29 27 35 0 100
MA 7|5/ 2 (25) (26) 26 23 25 26 0 100
AR /2™ E 5 (143) (156) 11 25 20 45 0 100
=& (89) (79) 24 15 32 26 3 100
gt (35) (53) 8 34 24 33 0 100
- S2/E|Rl/7|Ef (70) (55) 17 28 23 30 3 100
=1 o
AE @231 (217) 19 25 23 33 1 100
== (187) (206) 5 22 28 44 1 100
Ha (62) (57) 29 16 20 35 0 100
S DE/28E (26) (25) 9 30 34 24 3 100
oo
HE0FE (329 (315) 17 20 22 40 1 100
=0lolgl (33) (29) 26 16 29 29 0 100
X o|ck (10) (12) 12 25 21 42 0 100
- o;ﬂ%%{ (29) (26) 10 17 34 31 9 100
o|&4 &0 HY (17) (19) 0 20 26 54 0 100
Ol /oI=EEtol Rl &0 Jet (25) (26) 5 34 49 11 0 100
0 Q| ™MEo|Lt EhA| (9) ) 18 14 1 57 0 100
N 9.5%}/2%/%%5* (54) (70) 2 37 29 32 0 100
E o O o O rl'oj
= (52) (51) 13 18 41 28 0 100
2™ 441 (443) 14 24 23 38 1 100
ST T DE/28E (13) (12) 0 12 34 54 0 100
o™ O o
2H™|  (300) (291 13 23 28 35 1 100
2™ (164) (168) 17 22 25 37 0 100
T E SRS DE/2SH (42) (47) 7 24 12 53 5 100
Tl T2
I EZZE|  (406) (382) 16 21 24 39 1 100
A2 ERE 41 (48) 1 24 41 32 2 100
Exg Z2¥ 95 (40) (52) 15 37 27 21 0 100
£ og Y2 (19) (23) 10 22 14 55 0 100
FH EH3te
23| (106) (109) 17 23 21 37 2 100
TR (24) (22) 3 34 32 32 0 100
b X at (23) (22) 15 12 24 49 0 100
SPNES (16) 17) 24 19 34 23 0 100
dh= (44) (40) 17 32 23 23 4 100
of 2EH (8) 9) 12 33 0 55 0 100
Ak (4) ) 0 85 0 15 0 100
o|g= (53) (56) 3 28 25 45 0 100
g2 (68) (70) 10 21 27 41 0 100
=Xy (98) (93) 17 18 27 38 0 100
CHE 2 &) (3) 53 25 0 22 0 100
T +E81§/£E%/$%E (58) (61) 15 17 33 35 0 100
=0HdTs £ =1
-t (35) (30) 8 16 42 34 0 100
Sy (35) (33) 14 22 25 36 2 100
SPNES (28) (31 10 37 39 15 0 100
dA= (74) (69) 26 21 17 33 4 100
Of 2EH (13) (15) 7 44 7 41 0 100
o|g= (71) (75) 2 28 27 43 0 100
A& (135) (139) 14 21 24 41 0 100
CE = (11 (10) 6 38 0 56 0 100
AS/BE/ESE| (104 (104) 18 17 27 37 1 100
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[H 5] HZoiE d2 M=
[25] HEHEE &= BYFHEHME ol YOIt CHHOAH FERESIAASH I E7|= F2 =AM YL Lt
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m HA = (506) (506) 55 7 4 8 4 5 2 13 3 1100
|
EHAH  (249) (243) 51 8 5 10 5 4 2 12 3 100
ofXH (257) (263) 59 5 3 5 3 5 2 14 4 1100
A
18-29M||  (68) (101) 43 9 0 1 6 1 2 34 4 1100
30-39Ml|  (52) (73) 38 5 7 13 4 10 0 16 7 1100
40-49M||  (72) (90) 63 4 7 4 4 2 6 11 0 100
50-59AMlf (132) (106) 64 3 4 13 3 5 2 4 2 100
60-69MI| (107) 77) 56 7 6 12 3 7 1 4 4 100
70M O|&| (75) (59) 66 16 0 2 1 5 1 3 5 1100
g
HMEAS 129 (229) (288) 55 8 4 5 5 6 2 14 3 1100
MFTAIS 239 (282 (218) 56 5 4 12 3 3 1 12 4 1100
o
S/2/0Y  (14) (13) 58 18 0 0 0 7 0 17 0 100
A (84) (75) 62 4 3 12 4 5 4 5 1 1100
THOH/ S R/ M HI AR (46) (48) 45 3 3 1 2 2 4 27 3 1100
MAYI |5/ 2E (25) (26) 67 0 0 16 0 0 8 7 2 100
ARR/BE|/HEX] (143) (156) 49 5 7 7 6 7 2 13 4 1100
FEI(89) (79) 66 10 3 5 0 4 0 10 3 1100
SHMl (35) (53) 46 12 0 2 11 5 0 19 6 100
SA/ER/ZIEH  (70) (55) 58 7 5 7 2 2 1 12 4 1100
o3 g%
Rl (231) (17) 66 1 6 14 1 3 3 6 1 1100
=o| (187) (206) 48 7 2 4 7 5 1 21 5 100
B (62) (57) 42 28 4 2 5 10 1 7 1 100
DE/RSH| (26) (25) 51 3 0 0 0 0 7 23 15 {100
X8
HE02FY (329) (315) 82 3 2 6 1 1 0 4 2 100
=0Iol8ll  (33) (29) 8 75 0 0 0 2 3 9 3 1100
Holg|  (10) (12) 5 0 76 0 19 0 0 0 0 100
TIEHE (29 (26) 22 0 0 62 0 0 0 10 6 100
o|=AM ol ME| (17) (19) 12 14 4 0 56 0 4 10 0 100
O|fAH/BI=—IEto| Rl &o| HEH (25) (26) 3 3 8 0 0 73 7 6 0 100
O 9 JYo|Lt THAll  (9) 9 0 0 18 16 0 0 48 18 0 100
AS/EDE/ESE| (54 (70) 13 0 1 4 5 0 3 62 11 {100
Esd 3829 g7t
338 (52 (51) 19 36 2 1 5 9 7 21 0 100
2™ (441) (443) 59 4 4 9 4 4 2 12 3 1100
DE/RSH| (13 (12) 56 0 0 0 8 0 0 16 20 100
EXA EHR2E "It
23| (300) (291) 62 5 4 6 4 5 3 9 3 1100
2™ (164) (168) 49 7 3 10 4 5 1 16 4 1100
DE/RSH| 42 47) 36 14 3 9 2 0 0 29 7 1100
22t &M EHOE
I EHBZE|  (406) (382) 63 6 5 9 3 5 2 6 2 100
A3 EEZE @41 (48) 34 8 0 2 6 0 4 36 11 100
EE 4d |5 (40 (52) 23 11 3 9 7 3 0 38 6 100
S8 olF gl (19 (23) 50 5 3 0 12 4 0 26 0 100
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[H 6_1] O|&M &Moo HY =& X|X| &
[26-1] MY X970 CS ZEO|LL SHH oA I3[olg FEE WOHH XX|& o|&0| JUAELIN?_1.0|EMMN7L Eojste Y
el %
H2 M
02 O 2 5 = - gz
NS @ | ayn g owse A oveg ezy 7
lxjx_” [E5) [E5)
1=
EAF%E X—IQ. (o) (o) (o) [o) [o) [o) [o) [)
EESCIRS ’ ’ ’ * * * & *
ArEﬂT(%“)
m HH = (506) (506) 5 16 21 21 53 74 5 100
dd
=R (249) (243) 7 20 26 18 52 70 4 100
oXH  (257) (263) 3 13 16 24 54 77 6 100
A
18-29Ml|  (68) (101) 4 32 36 20 30 50 15 100
30-39Ml|  (52) (73) 5 21 26 23 51 74 0 100
40-49Ml|  (72) (90) 8 12 20 16 63 79 1 100
50-59AMl|  (132) (106) 3 11 14 22 63 85 2 100
60-69Al|  (107) 77) 5 11 16 26 55 81 3 100
70N O|&|  (75) (59) 5 7 12 20 55 75 13 100
X
X*"AI 139 (229) (288) 5 19 24 18 54 72 5 100
FAE 239 (282 (218) 5 13 18 25 51 76 6 100
o
S/Y/018|  (14) (13) 8 24 32 22 46 68 0 100
AHH  (84) (75) 4 3 7 22 69 91 2 100
THOH /< A/ MBI A X (46) (48) 0 15 15 24 60 84 1 100
MA IS/ 2R (25) (26) 8 18 26 19 53 72 2 100
APR/RE/THER] (143) (156) 5 20 25 20 53 73 2 100
FE (89) (79) 4 7 11 27 49 76 13 100
SHM (35) (53) 7 43 50 13 26 39 11 100
S2/ER/Z|EH (70 (55) 7 10 17 20 55 74 9 100
o g g%
& (231) (217) 5 8 13 16 69 85 3 100
o (187) (206) 5 26 31 24 40 64 4 100
B2 (62) (57) 7 15 21 28 41 69 10 100
DE/ESH| 6 (25) 0 11 11 22 43 65 24 100
XX
HE2FE (329 (315) 3 13 16 20 61 81 3 100
=0lolgll  (33) (29) 3 18 21 28 48 76 3 100
HolEH  (10) (12) 19 16 35 20 45 65 0 100
TEE  (29) (26) 5 17 22 19 60 78 0 100
ol=M & HE| (17) (19) 31 61 93 4 4 8 0 100
O|LH/BI=EEtol Rl &of HE (25 (26) 0 29 29 28 37 65 6 100
1 Q| Ho|Lt EhA| (9) 9) 0 18 18 7 75 82 0 100
AS/EZE/ESE| (54 (70) 6 13 19 25 32 58 23 100
fsd 3829 4ot
28| (52) (51) 5 15 20 19 46 65 15 100
2™ @41) (443) 5 17 21 21 54 75 4 100
DE/ESH| (13 (12) 13 7 20 14 37 51 29 100
EXA EER2F "ot
24| (300 (291) 5 18 22 22 52 74 4 100
2™ (164) (168) 5 15 20 16 59 76 5 100
DE/ESH| @ (47) 5 14 18 28 36 64 18 100
22 &M EEO|T
HI EEZ| (406) (382) 5 15 20 18 60 78 3 100
23 EESF @) (48) 5 19 24 36 28 64 3 100
EE Z¥ |E| 40 (52) 2 28 29 28 27 54 16 100
EE oF E (19 (23) 15 8 23 30 39 68 8 100
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[H 6_2] O|LA/CIFEEO[R &0 HY 22 XX &
[£6-2] MY X970 Ot YEOILE SHH AN =30/ FEE WHOHH X|X[” o|&0| JUAEFLIT? 2.0|HAMNt BIFE
EEo|Rlo| Mot HE
el %
o 2= e =
4Lt otCt
A
zugz | TEH
Ay | 8 % % % % % % % %
At =)
m M m (506) (506) 5 15 20 22 55 76 4 100
Ad
SHXH (249) (243) 4 15 20 21 56 77 4 100
Xl  (257) (263) 5 15 20 22 54 76 4 100
|
18-29M||  (68) (101) 3 17 20 42 25 67 13 100
30-39Al  (52) (73) 8 25 33 21 46 67 0 100
40-49Ml|  (72) (90) 5 20 25 17 56 73 2 100
50-59AMl|  (132) (106) 5 6 11 11 78 89 1 100
60-69Ml|  (107) 77 6 10 17 16 65 80 3 100
70AM| O|AH  (75) (59) 1 14 16 22 59 81 3 100
X4
HFAS 1Y (229 (288) 5 14 20 22 56 78 3 100
HMFAIS 2 (282) (218) 4 16 20 21 54 74 6 100
A
S/ (14) (13) 14 18 32 13 55 68 0 100
A (84) (75) 2 8 10 17 70 87 3 100
HOf /G I/ MH|AZ]  (46) (48) 0 18 18 29 50 79 3 100
A7 S/ 2Rl (25) (26) 0 32 32 19 48 66 2 100
AR/ ER] (143) (156) 9 16 25 17 57 75 1 100
FE (89) (79) 4 12 15 19 59 79 6 100
shMl (35) (53) 5 24 29 47 17 64 7 100
Sx/E|R/7|EY  (70) (55) 3 8 10 14 65 79 11 100
o] g%
AE (231) 17) 4 10 14 10 73 83 3 100
=z (187) (206) 6 19 25 33 38 71 5 100
H (62 (57) 7 17 24 23 50 74 3 100
DE/ESH| (26 (25) 0 21 21 23 44 68 11 100
X xdgt
HE20FZ (329 (315) 2 12 13 20 65 86 1 100
Zalofsll  (33) (29) 3 24 27 26 35 61 12 100
HoleH  (10) (12) 0 20 20 9 72 80 0 100
TEZH  (29) (26) 2 14 17 16 68 84 0 100
O|FM &of Y| (17) (19) 0 13 13 44 43 87 0 100
o|H/oI=EEol Rl &0 " (25 (26) 63 30 93 7 0 7 0 100
0 Q| ™YoLt EhA| 9) 9) 0 18 18 7 75 82 0 100
S/EE/RSH| (54 (70) 0 22 22 31 29 59 18 100
tsd 282 "7t
24 (52 (51) 9 33 42 20 24 44 15 100
2™ @41) (443) 4 14 18 22 58 80 2 100
DE/ESH| (13 (12) 0 0 0 14 71 85 15 100
EXA EH2F "ot
24| (300) (291) 6 17 23 21 53 74 3 100
2™ (164) (168) 4 14 17 21 59 80 3 100
DE/ESH| @2 (47 1 9 10 29 49 78 12 100
22 &M EEO|F
M3 EHEZ  (406) (382) 6 13 19 19 61 80 2 100
232 EEE @) (48) 0 20 20 36 33 69 12 100
EE 23 98| 40 (52) 2 27 28 25 34 59 13 100
58 o i8] (19 (23) 8 10 18 31 43 74 8 100
I
HankooklResearch



(& 12] XX =
HYEHNME thE & o= ZEolLt BHE KXY E7[= &9 =MYULL 18, o= 38 E=

[E12&F12-1] =
EHOA ==0[2te O 20| 7h= He7tR? BEI|= 259 =AM YLICH

Rl %
Ol eim et
ol . o%ﬁwr gl a2 | X[X|st= o=
Atglls= () e =0lojal: Ho|g : TEEF : Fojsi= EEolelo]: oLt HEO|Lt /ase A
-re g Hojsts | oy chy glg /T eF
A 8¢
A} |7FEZ)
2= | M8 % % % % % % % % % %
Al'E:”z'\— Al'E:"#— (] (o) (] (o) (o) (o) (] (] (o) (]
& | (¥
m A = (506) | (506) 62 6 2 5 4 5 2 12 2 100
ol
SHRH (249) | (243) 57 7 3 7 6 5 2 12 2 100
o XH (257) | (263) 67 5 2 3 2 6 13 1 100
il
18-29M|| (68) | (101) | 42 6 0 3 7 3 0 35 5 100
30-39AMl| (52) | (73) 59 0 5 5 4 8 6 12 2 100
40-49M|| (72) | (90) 69 4 6 1 2 6 2 9 2 100
50-59Al| (132) | (106) | 73 3 1 9 2 5 2 5 0 100
60-69MI| (107) | (77) 65 10 2 8 3 7 2 3 1 100
70M| O|AH (75) | (59) 67 16 1 5 4 4 1 2 0 100
X
HFAI2 139 (224) | (288) 59 5 5 4 7 12 3 100
HMFEAIS 289 (282) | (218) 67 6 2 3 3 1 12 0 100
e
S/2/0Y (14) | (13 69 0 0 0 0 14 0 17 0 100
A (84) 69 4 1 10 5 4 3 4 0 100
nhoj /G I/ MH| A (46) 55 3 3 9 7 6 0 18 0 100
MA 7| S/ B El (25) 68 5 0 6 0 0 0 15 5 100
APR/EE| /2 A (143) 62 4 5 3 3 7 4 11 1 100
ZFH1 (89) ) 67 10 1 5 2 6 1 9 0 100
SHMl (35) | (53) 46 8 0 2 9 5 0 23 8 100
2XI/E|Zl/7|EH (70) | (55) 66 10 3 5 1 1 1 12 2 100
o] d g%
e 231 | 17)| 75 0 3 9 1 2 5 2 100
ZZ| (187) | (206) 55 6 2 3 5 6 2 20 2 100
B2 62) | (57) 41 28 3 0 10 10 1 7 0 100
RE/BSEH (26) | (25) 60 3 0 0 0 7 0 23 7 100
Esd 3829 7t
23 52) | (51) 14 43 3 1 0 10 1 27 0 100
B (441) | 443) 68 2 2 6 4 5 2 10 2 100
2/288 (13) | (12) 56 0 0 0 0 0 0 36 7 100
EXA EHR2FE "It
27| (300) | (291) 69 5 2 5 2 7 2 8 1 100
B2l (164) | (168) 56 7 5 6 4 2 16 1 100
RE/BSE 42) | (47) 45 7 3 10 4 0 0 22 10 100
22t &M EHOE
X3 EEZE| (406) | (382) 69 6 2 6 4 6 2 5 1 100
23 ERF| (41) | 48) 51 1 5 6 2 4 1 31 0 100
EE AX™ SH| (40) | (52) 33 6 2 4 3 3 0 41 9 100
E8 o 22 (19 | 3) 50 8 0 3 12 4 4 19 0 100
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